Week 12
Friday 12th June 2020
Year 5- Problem solving
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Inverse Operations

Inverse Operations

Ta. The fable shows whether the children
in a fown are lefi or right handed. Use
‘addifion and subfraction in a column.

1b. The fable shows the fypes of pizza that
were sold in a supermarket. Use addition
and sublraction in a column format fo find
the missing valves.

Boys | Gils | Tolal Smal | Mediom| Total
Let a | 1aan | 2ses | | [repperoni] 1322 | A | 3s3s
Woht | 2121 | 8 | aam Cheese 3121 | 6362
Total | c | asss | s Tota | c | sas | 9997

hig

hig

2a. Use inverse calculations o find A and
B

2531+ A=4762

3658
3458+A=B +

heig

2b. Use inverse calculations fo find A and
B

A+5243=7.456 5243

5482
B=5482+A +

heig

3a. Spot the odd one out.

3b. Spot the odd one out.

4563 6787
2241 A A 4575
232 2 456 3 457 s 78
- - 1. - 12
45 6 3 s 7 9 6
B c B c
Explain why. Explain why.
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Inverse Operations

4a. The table shows the fypes of
bookcase that a company produces. Use

4b. The fable shows the students that
study languages in an academy chain.
Use addifion and subfraction in a column
format fo find the missing valves.
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Sa. Use inverse calculations fo find A, B
and C.

27,724-A=B

17,645 + B = 39,735

5b. Use inverse calculafions fo find A, B
and C.

49,584-A=8B

45,971 -B=5723

A-3735=C B+412=C
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